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B = ED HZED |EEFE|ERK  |RES |[MED N
iz E & (B B 1.18 G5 429 G3 [5.10G8 [76G8 [8.23G5 |9.15 G3 Ak
1XJIE BEFELTC) 34 27 41 63 48 213
2|8 FI@ERLTC) 34 27 41 63 19 184
3R HARGEUTC) 48 19 23 23 48 19 180
48 BEIGEEIFALA) 22 41 23 22 108
S5|# HeEh(BARTI#E) 22 23 34 27 106
6| AR —3R(GASCTT) 12 90 102
6|RA KEBFE/\VX) 90 12 102
8|5 R HHBELTC) 48 19 27 94
9|FIEE CWURRTC) 90 90
IiEE BE=(F—LILT) 90 90
1| &R ZKESITALA) 41 23 22 86
12(BTER HAZS(NEST) 22 12 23 23 30
12|BER EA(NEST) 22 12 23 23 30
14| 8F E(BARTIH) 41 34 75
155718 ##I(GASCTT) 63 63
15| %k S2EBLITZ2) 63 63
17758 ZF@ELUTC) 12 22 12 46
1848 FXENEESB) 41 41
18|=1 E&ERUTC) 41 41
18788k FHEAIH 41 41
21|#1H #EF(FE/AVR) 12 22 34
22|{F7k B A(Qoo) 12 12 24
23| H HE(Qoo) 23 23
23| XM 7% (Qoo) 23 23
23| XX _ZE(SOTC) 23 23
23|HE = (FR/NAVR) 23 23
23/ EiE(HATI#H) 23 23
23| & EEGEILR—) 23 23
PRI E (= ) 23 23
30|AH EX(Qoo) 12 12
30|24 FHEILO—) 12 12
30| K Rk—(Qoo) 12 12
0| EE ARGEETRAD 12 12
30[EF {ZBB(ICTC) 12 12
30[F /Il IEFE(Qoo) 12 12
0|BK FEEHEKIZE 12 12
30[ LI FFH(Qoo) 12 12
0|FH EFXFEEKXE) 12 12
30788l EEEEEXDE) 12 12
30| EZ=2(Qoo) 12 12
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iz E & (B B 1.18 G5 429 G3 [5.10G8 [76G8 [8.23G5 |9.15 G3 Ak
1|#EF7 Z2Z(Qoo) 48 90 138
20124 HENLO—) 90 90
3|t F— (JL/\—FTC) 63 63
3|# K BHKUL/N—KTC) 63 63
5|XKH EX(Qoo) 48 48
6|8 EF&HEF—LIALT) 34 34
6|t BNF—LILT) 34 34
8 0
8 0
8 0
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iz E & (B B 1.18 G5 429 G3 [5.10G8 [76G8 [8.23G5 |9.15 G3 Ak
1[KZE B (SOTO) 48 27 90 48 213
2180 SXURETC) 22 90 41 153
3|1 MEy shiR(ALEEE) 90 48 138
4= BthELoY) 90 90
5|HFt FEKX(SOTC) 63 63
5| KkH XEEILH) 63 63
5| K#k EB(LVHENTC) 63 63
5/dF EEHI(LVHENTC) 63 63
5|/ FHIEMAX) 22 41 63
103/ #X(SOTC) 48 48
11/M#F EH—(Qoo) 41 41
11[KHE EX(Qoo) 41 41
13| K F1T(Qoo) 34 34
13| FH #E (Qoo) 34 34
13| BF AFRGEET&R) 34 34
13| RE B—(RRIY5D) 34 34
17| &3 EEURIETC) 27 27
17[IUA ##F1(GATC) 27 27
17[f8#h B—0UL/A—h) 27 27
20|12t EFIURIETC) 19 19
20| &5 11 HEARR(GATC) 19 19
22|58 BRGBHShI7I—IL) 12 12
22|8R3% 8 —(Qoo) 12 12
22|85 K EEE(Qoo) 12 12
22|1f K {Ean (HED—2) 12 12
26 0
26 0
26 0
26 0
26 0
26 0
26 0
26 0
26 0
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1Bl BRGBSMHIFI—IL) 27 90 117
2|ER FEBEGBIHITFZI—IL) 90 90
3iEER fB(IVTC) 63 63
3| XFF EHXAVTC) 63 63
5|&ll E—(TIZTRDE) 41 4
5|2 EC(EL@) 41 41
5|8R1% #—(Qoo) 41 41
58K EEE(Qoo) 41 41
9|AA AR (EaR@ENER—) 27 27
10[FHH ZFF(EFTC) 19 19
10|80 B=(EFTC) 19 19
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12 0
12 0
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1 AAR BEA—5—X) 48 48 96
2|18EZ AZXGREHEATC) 90 90
2[iE10 IEEMyWayTC) 90 90
4;EE fBIVTC) 34 48 82
5|fHh EFURETC) 63 63
5|8l HAB(GASCTT) 63 63
7=EIE B&E(ELE) 48 48
8|1k EHFUIVIC) 34 34
9 0
9 0
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iz E & (B B 1.18 G5 429 G3 [5.10G8 [76G8 [8.23G5 |9.15 G3 Ak
1|HE ZZ(EHTC) 27 90 117
1|1&H F—GEEZEED) 27 90 117
3|{EHh ETURETC) 63 63
3|H L HAB(GATC) 63 63
5|FH FIE(EHETC) 41 41
5[#)11 BERULRHUAMAE) 41 41
5|28 F—(BIGOT) 41 41
5|F1& IEFT—AR—X) 41 41
9 0
9 0
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iz E & (B B 1.18 G5 429 G3 [5.10G8 [76G8 [8.23G5 |9.15 G3 Ak
1K FH@E@IAMIT7FI—IL) 90 90 180
21K B FBHIHhTFE—IL) 90 63 12 165
3|#H LEGERLUTC) 48 63 27 138
4|RF #E(GASCTT) 27 90 117
5|l EZEF(SITO) 48 27 75
53/ F EFHHK(ROSSO) 22 41 12 75
@ EEXREILRS) 19 48 67
8|EAR HF(HLyY) 63 63
81N FWAF—LILT) 63 63
8|{F#E AF(ROSS0O) 22 41 63
128 XFEHEXFELS) 48 48
12K HEHEEEKRT) 41 41
12|8%K FHLHENTC) 41 41
14|28 E3%(Qoo) 34 34
14|RH {ZFEHYETC) 34 34
14| X% BF(EED—2T0) 34 34
4[5 HEEED—2T0) 34 34
18| KiZ B F@HhIhIFI—IL) 12 19 31
19/ #HEHEXFEILS) 27 27
20|51 FEEALWLTC) 22 22
0= FEShwvh) 22 22
20|82 =4 EEHFRERITTC) 22 22
202 H(F—LaLT) 22 22
208 ERFAEXELS 22 22
20|#)Il mEHEXEILS 22 22
IREIRIEENGES: E4)) 19 19
26| Ex=%F F1E(enjoy) 19 19
28|85 HEHEHXEILS) 12 12
28|&FH EBEFERLUTC) 12 12
28|BE[E 1 F(GASCTT) 12 12
28|/MNFFHE BHOOIES) 12 12
28|BK BULVHLENES) 12 12
33 0
33 0
33 0
33 0
33 0
33 0
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iz E & (B B 1.18 G5 429 G3 [5.10G8 [76G8 [8.23G5 |9.15 G3 Ak
1|RKE EFURETC) 22 12 90 41 48 213
1[40 FEHURETC) 22 12 90 41 48 213
3 ALFERED) 12 63 41 22 138
4{£8F BELVHENTC) 34 41 34 27 136
5|E#8 B%E(enjoy) 34 63 27 124
6|1EAR ER@GBINIFZI—IL) 90 22 112
7| £i=% F1HE(enjoy) 48 63 111
8| XIE HMF (HIMhI7I—IL) 90 90
IIRAK EHEFULVHENTC) 12 63 75
10{FH E &HWPE(enjoy) 34 19 53
11|BEE HF(GASCTT) 48 48
12[ KX AEFERLTC) 22 19 41
13[AE A FIEFKFELFE) 27 12 39
147+ EREHTC) 27 27
15[ER HXF(Qoo) 22 22
15[3R &K 1VA#A#(Qoo) 22 22
15| KM EmF&HSHAHIT7ZI—IL) 22 22
18| FE EAI(ROSSO) 19 19
18/ i, EZEF(ROSSO) 19 19
20| HEB#M AHIFF (FRLUTC) 12 12
2008 BEFGHhIhIFI—IL) 12 12
20|k HF F%EF(ROSSO) 12 12
20 6H #BEEALT=X) 12 12
20|51 EFEEALT=X) 12 12
20;@H I A(GASCTT) 12 12
20|5AX HF(ELYY) 12 12
20|85 K BHF(EhHPhH) 12 12
20EH FF (EhohH) 12 12
29 0
29 0
29 0
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iz E & (B B 1.18 G5 429 G3 [5.10G8 [76G8 [8.23G5 |9.15 G3 Ak
1[{£8% HF(ROSSO) 90 90
1B AIFFERLTC) 90 90
1|2 BFEOF) 27 63 90
WA TEF(EDF) 27 63 90
588K BF(LVHENTC) 41 41
5|7kIF FEE(FHYITC) 4 41
5|BFH BEOEE) 41 41
5|8 FRHMF—LIALT) 41 41
9|#H BEGhILTYM 27 27
985K HBXFHILTYH) 27 27
1MErH#F EFHKROSSO) 19 19
11[{F#% 2AF(ROSSO0) 19 19
11[3RAK VAH(Qoo) 19 19
1A HXF(Qoo) 19 19
15|f81 EXF@RLUTC) 12 12
15[db# X (EDF) 12 12
17 0
17 0
17 0
17 0
17 0
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B = ED HZED |EEFE|ERK  |RES |[MED N
iz E & (B B 1.18 G5 429 G3 [5.10G8 [76G8 [8.23G5 |9.15 G3 Ak
1|HB#H &FFEUTC) 27 27 54
1|28 EXGEIUTC) 27 27 54
3| [RF(IVTC) 48 48
3| EWYIVTC) 48 48
5|Ely EF(EDF) 22 19 a1
6|/h\ith & EY(enjoy) 22 12 34
6|/MNA EFHFIAVIC) 34 34
6|IEAR HDFUAVTC) 34 34
9|5 lF MFAVTC) 12 19 31
9|XE EFULVHENTC) 12 19 31
11[EE BFEDE) 22 29
118R3% ZHF(enjoy) 22 22
13|BK #F(ELYY) 19 19
14[85K EEFJIVTC) 12 12
14[85K =2&(BBYSD) 12 12
14|ZH# HF(BBISD) 12 12
14| K8 E=EF(ZKTC) 12 12
14[/h#k EEF(CEAIWTC) 12 12
19 0
19 0
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iz E & (B B 1.18 G5 429 G3 [5.10G8 [76G8 [8.23G5 |9.15 G3 Ak
1|578 AZEF(GASCTT) 27 63 19 109
1[MEAR fRFEDF) 27 63 19 109
1A RFAVTC) 19 90 109
1[iEA =YIVTC) 19 90 109
5|BHF BEOEE) 27 27
5|E K HF(ELvY) 27 27
7|9R FHFELUTC) 12 12
718K HEFERLUTC) 12 12




